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Property: If | denotes the Jacobian of u, v with respect to x, y and J' denotes the Jacobian of x, y with respect to
u, v then it can be proved that JJ' =1

SOME SOLVED EXAMPLES:

1. Provethat]]'=1for x =eVsecu,y =e’tanu
y

S0 o A= oVsecu v =e parw
ST D R =i o
(U N
: >4 >Y
NV AV

N
e secu bupw e\}‘geﬁua ]

MODULE-4 Page 1



N
e secu bup w eusecu,

6\’ SQCZLJ« e\! tenw

~ 2\
= e secu buplu ~ e lsecu

— 2V
— € secur (( bentu-secly)

N = _o®Veorw = — (eVsecu)e :li?(D
Sy
oy _
() 2y 2V
N g R
Nn= C ¢elu . Y= e banw |
9 N
= = - s D
e\{SQCU
2N

2
w—wr = eV secdn - tenl) = €
= Loy (w292
> o4 = log( 292 é>/ 31 D

Now Eﬁ:]\—‘ (}:‘\2) = —=

2 —
= Jt’[::bl ’ T
24
24 \)\_sz ( ) \)'712’7’)’

~

% =

Ay _ _\‘ . <_—'—/i ° 2 ?12‘32'
> 2 4Z2-Y

—_—

(2 = —
>y ) (-2 02 —y*

39 2 - u2

\

MODULE-4 Page 2



NN L (Y=
_a_g“’ 2 \5‘2_32 ’b’)?' 'y’L
) -y ‘
\\ - 7(\/,)2\37, \J.\qz-jl
Y — Y
w2yt "2y
= 82 - ™
R v P Sy V3
(12 ~y2) (7m<~y
32_ 2 —\
— <_ ﬂ/) = —fj;:::
A |42 mg=

F)Z C‘ﬁ’]z N‘\jZ)S)L

N

bud 22 = o2

A _\

PE—

w e @

&S\: (—neY) Li}gj - 1.

-
(\

2. Provethat]J]' = 1for x =sinfcos®,y = sinf sin ®
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7. Ifux = yz,vy = zx,wz = xy, prove that 3y is constant
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